PN (SlrEA AR BaA A& - 7 4 FiaA A&
BINDING - 6X BINDING - 4D

2225470 5-8 2255213 8-9

2225471 INDEX 8-12 ¥48,000 2255214 9-10

2225472 12-15 2255215 ASPECT 4D 10-11 ¥107,000

2265257 6-8 2255216 11-12

2265258 8-10 2255207 8-9

2265259 TRANSIT 6X 10-12 ¥72,000 2255208 9-10

2265260 12-14 2255209 HOOK 4D 10-11 ¥109,000

2255238 4-6 2255210 11-12

2255239 TAO 6X 6-8 2255211 12-13+

2255240 BLACK 8-10 ¥86,000 2255200 4-6

2255241 10-12 2255201 6-8

2255242 12-13 2255202 8-9

2265266 4-6 (W5-7) 2255203 PEAK 4D 9-10 ¥116,000

2265267 TAO 6X 6-8 w7-9) 2255204 10-11

2265268 WHITE 8-10 (wo-11)| ¥86,000 2255205 11-12

2265269 10-12

2265270 12-13 M6-21mm METRIC BOARD BOLT KIT

2265242 6-8 2126927 SYRT (4DAY) ¥2,500

2265243 8-9 M6 BINDING T-NUT

2265244 9-10 2126921 TRHYa— SURTH ¥2,500

2265245 RIVAL 6X 10-11 ¥89,000 M6 BINDING T-NUT KIT W/LOK

2265246 11-12 2126928 FHODOIYRS (42AY) ¥3,000

2265247 12-13+ 6X HARDWARE KIT COMPLETE

2265248 13-15 2206100 L2 —bR—F L840 FT—YDar FY— vk ¥3,000

2265233 6-8 IPX M6 BNDG BOLT KIT W/LOK

2265234 8-9 2126926 sYRSHEvk (DAY) ¥3,000

2265235 9-10 4D SCREW ANGLE LOCK x 4

5265236 HOOK 6X 1011 ¥103,000 2195900 DT ESUAS ¥3,500

2265237 11-12 6IN FLEXTRACK MOUNT x 4

2265238 12-13+ 2175703 FLEXTRACK .64 ¥ F7—YVEH=Y > b ¥4,900

2265219 6-8 4D FLEXTRACK MOUNT x 4

2265220 8-9 2195901 FLEXTRACKE4DT—Y TSR ¥4,900

2265221 9-10 4D FLEXTRACK HARDWARE KIT COMPLETE

2265222 VERTEX 6X 10-11 ¥107,000 2195902 FLEXTRACK&4DT—Y Iy F)—btyh ¥6,800

2265223 11-12 BINDING PARTS

2265224 12-13+ 10000 BLACK

2255224 4-6 (W5-7) 10000 LACE 1% WHITE ¥500

2255225 6-8 w7-9) 2117682 BLACK

2255226 89 2117683 LACE 107t WHITE ¥3,600

TERRA 6X ¥99,000

2255227 9-10 10000 LACE LOCK 1@ BLACK ¥500

2255228 10-11 10000 WHITE

2255229 11-12 2117680 BLACK

2265214 8-9 2117681 | ACEtOCKI0EEA T ¥3,600

2265215 AERO 6X 9-10 ¥115.000 2175701 LACE END 11& ¥500

2265216 ATOMIC 10-11 ’ 2175701 LACE END 20+ vk ¥3,600

2265217 11-12 2154000 LACE KIT BULK 1PK ¥4,500

2255217 4-6 2155590 LACE KIT BULK COLOR 20PK ¥39,000

2255218 6-8 2175702 LACE KIT BULK BLACK 20PK ¥39,000

2255219 AERO 6X 8-9 ROPE / HANDLE COMBO

2255220 WHITE 9-10 ¥115,000 2215711 RED

2255221 10-11 2215712 BLUE

2255222 11-12 2215713 TR9 HDL COMBO ORANGE ¥15,800

2255223 12-13+ 2215714 GREEN

2265261 4-7 2235659 RED/BLK

5265262 PLUSH =770 ¥48,000 5305822 TEAM COMBO WHITE ¥48,000

2265239 5-7 SURF ROPE/ HANDLE

2265240 WMN's HOOK 6X 7-9 ¥103,000 2126979 WAKE SURF COMBO HANDLE ¥14,000

2265241 9-11 2155522 SURF 8" HANDLE KNOTTED ROPE GREEN ¥19,000
KID'S BINDING - R6 2205825 SURF 8" FLOATING ROPE BLUE ¥20,000

2265265 DREAM 12T-5Y ¥48,000 2195604 SURF DLX HANDLE 9" RED ¥27,000

2225475 12T-5Y 2215703 SURF 9" ULTRA SUEDE ROPE BLUE ¥27,000

5225476 RANT 76 ¥48,000




	Binding&Handle他

